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1. Given below are four jumbled sentences. Select the option that gives their

correct order.
A- The cafe’s owner says he’s interested in conservation, and hopes customers
will realise the animals are worth saving, even though they often have a bad
reputation.
B= None of them are venomous, meaning customers can get up close and
personal with the reptiles.
C= Here you sip your drink in the company of 35 snakes.
D= This cafe, which has just opened in Tokyo, is not for the faint-hearted.

(A) DCBA (B) ABCD (C) DBCA (D) ABDC
Ans. A
2. Given below are four jumbled sentences. select the option that gives their
correct order.
A. An environmental group performed a necropsy on the animal and found about
40 kilograms of plastic, including grocery bags and rice sacks.
B. A 4.7-metre long whale died on Saturday in Phillipines whare it was stranded
a day earlier.
C. “It's very disgusting and heartbreaking,” he said. “We’ve done necropsies on
61 dolphins and whales in the last 10 years and this is one of the biggest
amounts of plastic we’'ve seen.”
D. “The animal died from starvation and was unable to eat because of the trash
filling its stomach,” said Darrell Blatchley, Director of D’Bone Collector Museum

(A) BACD (B) BADC (C) ABCD (D) DABC
Ans. B
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3. Given below are four jumbled sentences. select the option that gives their
correct order.

A. That sort of pollution, which is also widespred in other south east Asian
nations, regularly kills widelife like whales and turtles that ingest the waste.

B. Environmental groups have tagged the philippines as one of the world’s
biggest ocean polluters due to its reliance on single-use plastic.

C. In Thailand also, a whale died last year after swallowing more than 80 plastic
bags.

D. In the latest case, a whale with 40 kilos of plastic trash in its stomach died
on saturday in southern philippines where it was stranded a day earlier.

(A) ABCD (B) BADC (C) DABC (D) BCAD

Ans. B

4. Given below are four jumbled sentences. select the option that gives their
correct order.

A. The elephant tusks were tracked from the Democratic Republic of Congo for
two months.

B. Customs officials in thailand say it's the biggest seizure in the country’s
history.

C. Four tonnes of ivory,with a market value of $6 million- it was an impressive
haul.

D. Officials say they were being transported to laos, from where they believed
the ivory would be sold to customers across Asia.

(A) CBAD (B) ABCD (C) ACDB (D) CABD

Ans. A

5. Given below are four jumbled sentences. Select the option that gives their
correct order.

A. And 844 million don’t have access to clean water close to home, according to
the latest report by Water Aid.

B. Around 4 billion people in the world live in physically water-scarce areas.



C. It is because globally we use six times as much water today as we did 100
years ago.

D. The world’s water crisis is getting worse.

(A) BADC (B) BDCA (C) CADB (D) DACB

Ans. A

6. Given below are four jumbled sentences. Select the option that gives their
correct order.

A. An estimated 70% of this plastic which enters the sea sinks.

B. This is a problem that stretches far beyond India.

C. Eight million tonnes of plastic ends up in the world’s oceans every year,
causing damage to the fragile ecosystem.

D. And much of it is not biodegradable.

(A) ADBC (B) CADB (C) ABDC (D) CDBA

Ans. B

7. Given below are four jumbled sentences. Select the option that gives their
correct order.

A. Mango, the so-called “king of fruits”, is something of a national obsession in
India.

B. There was a bumper crop of mangoes in different states.

C. It resulted in prices coming down and sales going up - much to the delight of
buyers and sellers alike.

D. 2017 proved to be a very good year for mango lovers.

(A) CADB (B) CDAB (C) ADCB (D) ADBC

Ans. D

8. Given below are four jumbled sentences. Select the option that gives their
correct order.

A. Around 600 million of them live in areas of high to extreme water stress.

B. India is suffering from the worst water crisis, with one billion people living in
water scarcity.

C. This is even more than that of China and US combined.



D. The reason is that at 24 per cent, India uses the most groundwater drawn
out globally.

(A) ACBD (B) ADCB (C) BADC (D) BDAC

Ans. C

9. Given below are four jumbled sentences. Select the option that gives their
correct order.

A. Canada accounts for nearly one-third of the world’s production of news print.
B. Forest products, therefore, have been important export items of canada for
more than a century.

C. A large part of canada is covered with coniferous trees.

D. Pulp and paper are the two most important forest products.

(A) BACD (B) ABCD (C) DCAB (D) CBDA

Ans. D

10. Given below are four jumbled sentence. Select the option that gives their
correct order.

A. In China, thousands of people celebrated it.

B. The Lunar New Year of the Pig began on 5th February.

C. Others burned the first joss sticks of the year to bring them good fortune.
D. Some performers re-enacted historical ceremonies.

(A) BADC (B) ABCD (C) DABC (D) BDCA
Ans. A

11. Given below are four jumbled sentences. select the option that gives their
correct order.
A. What was supposed to be a holiday of a lifetime turned into a dangerous
experience for 1,300 passengers on a cruise ship off the coast of norway.

B. The Norwegian government decided to evacuatte the passengers with the
help of helicopters.

C. The ship broke down in rough seas and high-speed winds caused it to rock
heavily from side to side.

D. From the first 371 evacuated passengers, 17 had to be taken to hospital.



(A) ABCD (B) ACBD (C) CABD (D) CBDA
Ans. B
12. Given below are four jumbled sentences. Select the option that gives their
correct order.
A. It is one of the highly developed countries of the world.
B. It stretches from Atlantic Ocean in the east to the pacific Ocean in the west.
C. The USA consists of 50 states including Alaska and Hawai.
D. The United states of America (USA) is the 4th largest country in the world.
(A) ADCB (B) CBAD (C) DBCA (D) CBDA
Ans. C
13. Given below are four jumbled sentences. Select the option that gives their
correct order.
A. The move follows last week’s fathel Ethiopian Airlines crash.
B. Aircraft manufacture Boeing has grounded the entire global fleet of its 737
Max aircraft.
C. Last October, a plane from the Indonesia-based carrier Lion Air had also
crashed under similar circumstances.
D. That was the second time in five months a 737 Max has crashed.
(A) BADC (B) BCDA (C) DABC (D) ABCD
Ans. A
14. Given below are four jumbled sentences. Select the option that gives their
correct order.
A. However, new research shows that taking the dog for a walk can have its
downsides for seniors.
B. Dogs are great companios and provide a healthy excuse to go for a walk
and get a bit of exercise.
C. It once seemed common sense to believe that having and walking a dog was
good for older people.
D. A report published in an American medical journal says injuries among
seniors related to dog-walking are becoming increasingly prevalent.



(A) ADCB (B) CBAD (C) CABD (D) ABCD
Ans. B
15. Given below are four jumbled sentences. Select the option that gives their
correct order.
A. It has been a leading producer of both industrial and agricultural goods.
B. The United States of America holds a dominant position in the world because
of its high economic development.
C. Because of its enormous output, the united states has a major share in world
trade.
D. It is also a leader in the develpment and application of innovative technology.
(A) ABCD (B) BACD (c) BCAD (D) DABC
Ans. B
16. Given below are four jumbled sentences. Select the option that gives their
correct order.
A. Since then Boeing has received over 5,000 orders for the aircraft and has
delivered 371 to date.
B. The Max first started flying commercially in 2017.
C. Boeing had huge hopes for its 737 Max aircraft and viewed it as a key part
of .its future.
D. However, the company’s market value has plummeted by nearly $26 billion
since the crash in Ethiopia.
(A) CBAD (B) DCBA (c) ABCD (D) BCDA
Ans. A
17. Given below are four jumbled sentences. Select the option that gives their
correct order.
A. What can we do to avoid anger and provocation?
B. Anger and tension are prevalent due to conflicts arising out of these
differences.
C. The society is full of people who think and act differently.
D. We need to develop in ourselves the capacity for conversion to turn



negative experiences into positive thinking.
(A) CADB (B) CBAD (C) ABDC (D) ACBD
Ans. B
18. Given below are four jumbled sentences. Select the option that gives
their correct order.
A. Only the fittest creatures can survive while competing for food.
B. Why do some species survive and others become extinct?
C. His answer was that there is ceaseless struggle for life among all
creatures.
D. This was the question that Darwin asked himself.
(A) BCDA (B) BDCA (C) ADCB (D) ABDC
Ans. B
19. Given below are four jumbled sentences. select the option that gives their
correct order.
A. For a spilt second, as the stranger stepped into the light, his furry head was
clearly visible.
B. At first, all seemed still outside the house, except for the sound of the rain.
C. Recognizing him, Joe stood petrified, staring at the man wearing a long coat,
wet from rain.
D. But then, footsteps approached the house and a stranger emerged out of the
darkness.
(A) DACB (B) CABD (C) BCDA (D) BDAC
Ans. D
20. Given below are four jumbled sentence. Select the option that gives their
correct order.
A. The students often go about their business, singing along in the corridors.
B. But for the students of St.Ambrose High school, it ho longer dictates their
day.
C. A bell can sound gloomy or cheerful depending on when it is rung.
D. It has been scrapped in favour of music which now breaks up the timetable



of the school.
(A) ACBD (B) CBDA () BDAC (D) CADB
Ans. B



